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Enrollment No: _______________________         Exam Seat No: _______________________ 

C. U. SHAH UNIVERSITY 
Winter Examination-2021 

 

Subject Name: Engineering Drawing 
 

Subject Code: 2TE02END1    Branch: Diploma (All) 

    

Semester: 2         Date: 20/10/2021   Time: 02:30 To 05:30  Marks: 70 

 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: 

 
(14)  

 a)       Hatching lines are drawn at ___ degree to reference line. 

(A)30          (B)45          (C)60         (D)90  
 

 b)       In aligned system of dimensioning, the dimensions may be read from _______. 

(A)Bottom or right hand edges                    (B) Bottom or left hand edges 

(C)Only from bottom                                   (D)Only from left side 

 

 c)  The main ingredients of pencil leads are _________.  

(A)Graphite and Clay                                     (B)Lead and Graphite  

(C) Clay and Lead                                          (D)None of these 

 

 d)  Which polygon is drawn by tri circle method? 

(A) Hexagon          (B)Pentagon           (C)Heptagon          (D)Square  
 

 e)  __________ is obtain when all the generator of cone is cut by a section plane 

inclined to the base of the cone at an angle smaller then that made by a generator. 

(A) An ellipse           (B) Parabola          (C)Hyperbola          (D)All of above 

 

 f)  When eccentricity e<1, locus will be______ 

(A) An ellipse          (B) Parabola          (C)Hyperbola          (D)All of above 

 

 g)  The side view of an object is drawn in _______ 

(A) Vertical plane   (B) Horizontal plane  (C)Profile plane   (D)Any of the above  
 

 h)  In first angle projection method, object is assumed to be placed in _____ 

(A)First quadrant                                                 (B)Second quadrant           

(C)Third Quadrant                                               (D )Fourth quadrant  

 

 i)  Projection line is ______ 

(A)Continuous thick line                                     (B) Continuous thin line           

(C) Chain thin line                                               (D) Dashed line 

 

 j) Which of the following is not a principal view? 

(A) Bottom          (B)Side          (C) Top          (D) Auxiliary  
 

       k)  In a drawing, scale is shown 10:1, it indicates the scale is ______ 

(A)Half scale      (B) Enlarging scale        (C) Reducing scale      (D) Full scale   
 

 l) To draw a top view of an object, which dimensions will be considered? 

(A)Length and height                                           (B) Length and width.           
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(C) Height and width                                            (D)None of above  
      m) In the term ortho-graphic, „orthos‟ means _______ 

(A)Drawing          (B) Straight          (C) Projection          (D) View  
 

 n) If the point is in the HP and VP than plan and elevation show _____  

(A) In the XY line                                               (B) Below XY line             

(C) Above XY line                                             (D) All of above  

 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 (a) Write any seven name of drawing instrument and also write their function. 07 

 (b) Construct a circle through three nonlinear given points O1, O2 and O3. 02 

 (c) Draw a regular pentagon of 35 mm side by  circle method.  05 

Q-3  Attempt all questions (14) 

 (a) Construct an ellipse having major axis and minor axis 120mm and 50mm 

respectively by “Arc of circle method” . 
07 

 (b) Draw a parabola by tangent method, if base is 75mm and height is 45 mm 07 

Q-4  Attempt all questions (14) 

 (a) A circle of 40mm diameter rolls along a straight path, without slipping. Draw the 

curve traced by a point “P” on the circumference for one revolution of the circle. 

Name the curve. 

07 

 (b) Draw an involute of a circle of 30 mm diameter.. 07 

Q-5  Attempt all questions (14) 

 (a) A line “AB” is 80 mm long is inclined at 45
0
 to HP and 60

0
 to VP. Its end A is 20 

mm above HP and 35 mm in front of VP. Draw its projection. 
07 

 (b) The distance between end projectors of line PQ is 60 mm. One end “P” is 30 mm 

above HP and 35 mm in front of VP. While other end Q is 80 mm above HP and 

75 mm in front of VP. Draw the projection of line PQ. Find its true inclinations.  

07 

Q-6  Attempt all questions (14) 

 (a) A thin rectangular plate of side 90 x 45 mm has its shorter side in the HP and it is 

inclined at 30
0
 to VP. Draw the projections of the plate when the top view of 

plate is a square.  

07 

 (b) A hexagonal plane of 30 mm side is resting on HP on one of its side which is 

inclined at 30
0
 to VP and the plane is inclined at 45

0
 to HP. Draw the projections 

of the plane.  

07 

Q-7  Attempt all questions (14) 

 (a) A pictorial view of an object is shown in fig. 01 draw its front view looking from 

X , top view and L.H. side view using first angle projection method. 
12 

 (b) Why scale is required in drawing. 02 

Q-8  Attempt all questions (14) 

 (a) Two views of an object is shown in fig. 02 draw its isometric view. 10 

 (b) Explain any two AUTOCAD commands.  04 

ગજુરાતી 

પ્ર.૧  નીચેના પ્રશ્નોના જવાબ લખો. (૧૪)  
 ક      શચે િંગ યેખાઓ વદંબભ યેખાથી  ___ ડડગ્રી ઩ય ઩ય દોયલાભા ંઆલે છે 

(અ)૩૦      (ફ) ૪૫     ( ) ૬૦    (ડ) ૯૦  

 

 ખ      અરાઈન  સવસ્ટભભા,ં ભા઩  _______ થી લા ંી ળકામ છે.  
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(અ) ની ે અન ે જભણા ફાજુથી  (ફ) ની  ેઅને ડાફી ફાજુથી  
(ક) ભાત્ર તચ઱મ ે                (ડ) ભાત્ર ડાફી ફાજુથી 

 ગ ઩ેન્સવર રીડ્વના મખુ્મ ઘટકો _________ છે. 
(અ) ગ્રેપાઇટ અન ેક્ર ે(ફ) રીડ અન ેગ્રેપાઇટ (ક) ક્રે અન ેરીડ (ડ) આભાનંા કોઈ નશીં 

 

 ઘ કમો ફહકુોણ ટ્રામ વકભર ભેથડથી દોયલાભા ંઆલ ેછે. 
(અ) શ્ષ્ટ્કોણ     (ફ) ઩ ંકોણ     (ક) વપ્તકોણ    (ડ)  ોયવ  

 

   __________ પ્રાપ્ત થામ છે જ્માયે ળકુંના ફધા જનયેટયને ળકુંના તચ઱મ ેયશરેા વેક્ળન 
પ્રેન દ્વાયા નાના ખણૂ ેકા઩ીને ઩છી જનયેટય દ્વાયા ફનાલલાભા ંઆલ ેછે. 
(અ) એચરપ્વ        (ફ) ઩યફોરા      (ક) શામ઩યફોરા     (ડ) ઉ઩યના ફધા 

 

 છ જ્માયે એવેસટ્રીસવટી e<1, શોમ તો ______ 

(અ) એચરપ્વ      (ફ) ઩યફોરા     (ક) શામ઩યફોરા     (ડ) ઉ઩યના ફધા 

 

 જ ઩ાટભનો ફાજુનો દેખાલ _____ ઩ય દોયલાભા ંઆલે છે. 
(અ) ઉભુ ંપ્રેન       (ફ) આડુ ંપ્રેન     (ક) પ્રોપાઈર પ્રેન    (ડ) કોઈ ઩ણ  

 

 ઝ પ્રથભ કોણ પ્રક્ષે઩ણ ઩દ્ધસતભા,ં _____ ભા ંઑબ્જેક્ટ મકૂલાભા ંઆલે તેવુ ંભાનલાભા ંઆલે છે 

(અ) પ્રથભ  યણ      (ફ) ફીજુ ં યણ         (ક) ત્રીજુ ં યણ  (ડ)  ોથુ ં યણ  

 

 ટ પ્રક્ષે઩ણ યેખા ______ છે 

(અ) વતત જાડી યેખા                      (ફ) વતત ઩ાત઱ી  યેખા  
(ક) વાકં઱ ઩ાત઱ી યેખા                (ડ) ડળૅલા઱ી રાઇન 

 

 ઠ ની ેના ભાથંી કમો મખુ્મ દેખાલ નથી? 

(અ) ને ેનો દેખાલ    (ફ) ફાજુનો દેખાલ   (ક) ઉ઩યનો દેખાલ    (ડ) વશામક દેખાલ  

 

        ડ ડ્રોઈંગભા,ં સ્કેર 10: 1 ફતાલલાભા ંઆલે છે, તે સ ૂલે છે કે સ્કેર ______ છે   

(અ) અધભ સ્કેર    (ફ) સલસ્તયણ સ્કેર     (ક) ઘટાડરેો સ્કેર   (ડ) ફૂર સ્કેર  

 

 ઢ ઑબ્જેક્ટનો ઉ઩યનો દેખાલ દોયલા ભાટે, કમા ભા઩ન ેધ્માનભા ંરેલાભા ંઆલળ?ે 

(અ) રફંાઈ અને ઊં ાઈ                      (ફ) રફંાઈ અન ે઩શો઱ાઈ   
(ક) ઊં ાઈ અને ઩શો઱ાઈ                     (ડ) એક ઩ણ નડશ   

 

      ણ ઓથો-ગ્રાડપક ળબ્જદ 'ઓથોવ' નો અથભ _______ છે 

(અ) ડ્રોઈંગ       (ફ) વીધુ ં    (ક) પ્રોેક્ળન     (ડ) દેખાલ    

 

 ત જો ઩ોઈસટ HP અન ેVP ભા ંશોમ તો પ્રાન અને એરીલેળન ____ ભા ંદેખામ  
(અ) XY રાઈન ઉ઩ય                    (ફ) XY રાઈનથી ની ે     
(ક) XY થી ઉ઩ય                             (ડ) ઉ઩યના ફધા  

 

પ્રશ્ન ૦૨ થી પ્રશ્ન ૮ માાંથી કોઈ પણ ચાર પ્રશ્નોના જવાબ લખો. 

પ્ર.૨  નીચેના પ્રશ્નોના જવાબ લખો. (૧૪)  
 (a) કોઈ ઩ણ વાત ડ્રોઈંગ વાધનોના નાભ રખો અન ેતેના કામભ રખો. ૦૭ 



Page 4 of 5 

 

 (b) O1, O2 અન ેO3 ત્રણ નૉનરાઇનય આ઩ેરા ચફિંદુભાથંી ઩વાય થતુ ંલત ુભ઱નુ ંદોયો. ૦૨ 

 (c) વકભર ભેથડ લડ ે૩૫ભીભી નો ઩ ંકોણ દોયો. ૦૫ 

પ્ર.૩  નીચેના પ્રશ્નોના જવાબ લખો. (૧૪)  
 (a) ેની મખુ્મ અક્ષ અન ેનાની અક્ષ અનકુ્રભે 120mm અન ે50mm શોમ તેવુ ંઈચરપ્વ   " ા઩ 

લતુભ઱ ઩દ્ધસત" દ્વાયા  દોયો  
૦૭ 

 (b) જો આધાય 75mm છે અન ેઊં ાઈ 45 ભીભી શોમ તો, ટેસેસટ ઩દ્ધસત દ્વાયા ઩ેયાફોરા દોયો  ૦૭ 

પ્ર.૪  નીચેના પ્રશ્નોના જવાબ લખો. (૧૪)  
 (a) 35 mm વ્માવ ધયાલતુ ંએક લતુભ઱ વીધા ઩ાથ ઉ઩ય વયક્યા લગય ગફ઱ે છે તેના ઩ડયઘ 

઩ય આલેરા “P”  ચફિંદુ લડ ેય ાતો ઩ાથ દોયો અને તેનુ ંનાભ રખો.  
૦૭ 

 (b) 30 mm વ્માવ લા઱ા લતુભ઱ ભાટે ઈનલોલ્યટુ દોયો.  ૦૭ 

પ્ર.૫  નીચેના પ્રશ્નોના જવાબ લખો. (૧૪)  
 (a) રાઈન AB 80 mm રાફંી છે ે HP વાથ ે45

0 ખણૂો અને VP વાથ ે60
0 ખણૂો ફનાલે છે. 

તેન ેએક છેડો A HP થી 20 mm ઉ઩ય અને VP થી 35 mm આગ઱ છે તો રાઈન ABના 
પ્રક્ષે઩ો દોયો. 

૦૭ 

 (b) રાઈન PQ ણા છેડાઓના પ્રક્ષે઩કો લચ્ ે 60 mm અંતય છે. તેનો એક છેડો P HP થી 30 

mmઉ઩ય અને VP થી 35 mm આગ઱ છે જ્માયે ફીજો છેડો Q HP થી 80 mm ઉ઩ય અને 
VP થી 75 mm આગ઱ છે.તો રાઈન PQ ણા પ્રક્ષે઩ો દોયો.  

૦૭ 

પ્ર.૬  નીચેના પ્રશ્નોના જવાબ લખો. (૧૪)  
 (a) એક ઩ાત઱ી રફં ોયવ પ્રેટ 90 x 45 mm વાઈઝની છે. ે તેની નાની વાઈડ ઩ય HP ઩ય 

઩ડરેી છે અને તે વાઈડ VP વાથ ે 30
0 નો ખણૂો ફનાલે છે અન ેતેનો ઉ઩ય નો દેખાલ 

 ોયવ ફને તે યીતે પ્રક્ષે઩ો દોયો. 

૦૭ 

 (b) લાળં ઴ટટકોણ પ્રેટ તેની એક ફાજુ ઩ય HP ઩ય ઩ડલેુ ંછે. ઴ટટકોણ પ્રેટ HP વાથ ે45
0 

નો ખણૂો ફનાલે છે અને ે ફાજુ HP ઩ય ઩ડરેી છે તે VP વાથ ે30
0 નો ખણૂો ફનાલે છે 

તો પ્રેટના પ્રક્ષે઩ો દોયો.  

૦૭ 

પ્ર.૭  નીચેના પ્રશ્નોના જવાબ લખો. (૧૪)  
 (a) આકૃસત ૦૧ ભા ંઆ઩રેા ઓબ્જેક્ટ ભાટે, X ડદળાભાથંી વાભેનો દેખાલ, ઉ઩યનો દેખાલ અને 

ડાફી ફાજુનો દેખાલ પ્રથભ એંગર પ્રોેક્ળન ભેથડ થી દોયો.   
૧૨ 

 (b) ળા ભાટે ડ્રોઈંગભા ંસ્કેરની જરૂય ઩ડ ેછે?  ૦૨ 

પ્ર.૮  નીચેના પ્રશ્નોના જવાબ લખો. (૧૪)  
 (a) આકૃસત ૦૨ ભા ંઆ઩ેરા ફે દેખાલ ઩યથી આઈવોભેટ્રીક વ્ય ુદોયો.  ૧૦ 

 (b) કોઈ ઩ણ  ાય ઓટોકેડ કભાડં વભજાલો.  ૦૪ 
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Fig. 01 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Fig. no. 02 

 


